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3xt — x2 - 25 A4E3| stoizet.

O (3x2-2)(x+1)(x-1) @ (3x2+2)(x-1)(x-1)
® (3x2+2)(x+1)(x+1) @ (3x2+3) (x+1)(x-1)
@(3x2+2) (x+1)(x-1)

@

A=

(%)

Z| &k 6]—1351

| l-n.[

3A2
(3A+2)(A 1)
(3x2+2) (x+1) (x-1)




3. (1252 -75%) = {54 (30 - 50) + (-4)} 9] ZF2?

@® 75 @ 125 ® 900 @1000 ® 1225

B

1252 — 752 = (125 + 75)(125 — 75)
= 200 x 50 = 10000

20
5+ (30-50) + (~4) = 5+ = =10

(¥ 41)= 10000 + 10 = 1000




4.

3 4 = (4 x 200 +ax+b) L WL AE ab

e

> E.

> ®™EH:

9

ar
H

flo

~&B

(3 H)

S.ab =

=(x242)2-x2
= +x+2)(x2-x+2)

. a:—l,b:Q

-1%x2=-2




5. xOf ek oF A w3 - 2x% — x4+ 27} (x +a)(x +b)(x+¢) 2 A+ES]
A, a® 4 b + 29 2?7 (H, a,b,c=A)

s OF ® 7 @ 8 ® 9

B2 —x+2=(x+1)(x-1)(x-2)
A2+ +c2=(-1)2+124+22=6




6.

TS % A 2 4 Bay + 22 - x - 3y - 2] Q159 AL

@ x+y+2 @ x-y+2

@ x-2y+1 ® x+y+1

B

24+ 3xy+2y2—x-3y-2
=x>+ By-1)x+2y>-3y-2
= x4+ (By-Dx+ (y+ 1)(y-2)
=x+2y+1)(x+y-2)




